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QUESTION 1

The execution phase traditionally accounts for 40% of the test effort. In certain projects, this percentage may be

considerably lower.

What reasons may account for this?

A. Automating the testing process.

B. Employment of more testers.

C. Performing the tests simultaneously.
D. The useofExploratoryTesting.

Correct Answer: A

QUESTION 2

Which TMap phase may be located on the critical path?
A. Planning and Control

B. Specification

C. Execution

D. Preparation

Correct Answer: C

QUESTION 3

During which TMap phase is testing \\'"dynamic implicit\\'"?
A. Specification

B. Execution

C. Preparation

Correct Answer: B

QUESTION 4
Why do designing and managing the test infrastructure sometimes give rise to conflict?

A. The Project Manager and Test Manager have differing interests.
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B. The testers work with the same test data during the test execution.

Correct Answer: B

QUESTION 5

Is the checklist drawn up for the purpose of the basis evaluation dependent on the test design technique being applied?
A.Yes

B. No

Correct Answer: A

QUESTION 6

See the illustration below:

To test a registration application for a weekend trip, logical test cases must be created in accordance with the Data
Combination Test. In addition, it has been agreed that less depth testing must be performed. One data pair has been
defined that must be fully tested in combination:

-car - attraction

Eight test cases are designed using a classification tree.
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Where must the Wbullets\\' for test case 4 be placed?
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A. Saturday, fun park, 2nd
B. Sunday, museum, station
C. Sunday, fun park, station

Correct Answer: C

QUESTION 7

With which step in the business driven test management (BDTM) approach follows the step determining risk class?
A. determining light/thorough testing

B. formulating the assignment and gathering test goals

C. creating test cases

D. allocating test techniques

Correct Answer: A

QUESTION 8

What is recorded in a test plan?

A. the initial situation, action and predicted result

B. the test situations to be tested

C. the division into test units and the test techniques to be used
D. a stepped plan for the test execution

Correct Answer: C

QUESTION 9

See the specification below:

A specification includes the parameters A, B and C.

A and B each have 3 equivalence classes and C has 2.

What is the minimum number of test situations that will be generated by applying the coverage type pairwise testing?
A. 3

B.6

C.9
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D. 18

Correct Answer: C

QUESTION 10

See the illustration below:

Which test situations can be differentiated when the coverage type paths test depth level 2 is used?
A. 1-2; 2-3; 3-4, 2-4, 2-5; 2-6; 3-5; 3-6; 4-5; 4-6; 5-6

B. 1-2; 1-3; 1-4, 2-5; 3-5; 4-5; 2-6; 3-6; 4-6

C. 1-2-5; 1-2-6; 1-3-6; 1-3-5; 1-4-6; 1-4-5

Correct Answer: B
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